Fill in this information to identify the case:				
Debtor	Emerge Energy Services LP			
United States Ba	inkruptcy Court for the:	District of Delaware (State)		
Case number	19-11563			

Official Form 410

Proof of Claim 04/19

Read the instructions before filling out this form. This form is for making a claim for payment in a bankruptcy case. Do not use this form to make a request for payment of an administrative expense. Make such a request according to 11 U.S.C. § 503.

Filers must leave out or redact information that is entitled to privacy on this form or on any attached documents. Attach redacted copies or any documents that support the claim, such as promissory notes, purchase orders, invoices, itemized statements of running accounts, contracts, judgments, mortgages, and security agreements. **Do not send original documents**; they may be destroyed after scanning. If the documents are not available, explain in an attachment.

A person who files a fraudulent claim could be fined up to \$500,000, imprisoned for up to 5 years, or both. 18 U.S.C. §§ 152, 157, and 3571.

Fill in all the information about the claim as of the date the case was filed. That date is on the notice of bankruptcy (Form 309) that you received.

P	Identify the Clair	n			
1.	Who is the current creditor?	Aspect Electrical Engineering and Service LLO Name of the current creditor (the person or entity to be paid for this claim) Other names the creditor used with the debtor			
2.	Has this claim been acquired from someone else?	✓ No Yes. From whom?			
3.	Where should notices and	Where should notices to the creditor be sent?	Where should payments to the creditor be sent? (if different)		
	payments to the creditor be sent?	See summary page			
	Federal Rule of Bankruptcy Procedure (FRBP) 2002(g)				
		Contact phone 715-834-5201 Contact email mebner@aspecteng.com	Contact phone Contact email		
		Uniform claim identifier for electronic payments in chapter 13 (if you use o	ne): 		
4.	Does this claim amend one already filed?	✓ No✓ Yes. Claim number on court claims registry (if known)	Filed on		
5.	Do you know if anyone else has filed a proof of claim for this claim?	No Yes. Who made the earlier filing?			

Official Form 410 Proof of Claim

Do you have any number	□ No
you use to identify the debtor?	Yes. Last 4 digits of the debtor's account or any number you use to identify the debtor: 9889
How much is the claim?	\$ 19180 Does this amount include interest or other charges? No Yes. Attach statement itemizing interest, fees, expenses, or other charges required by Bankruptcy Rule 3001(c)(2)(A).
What is the basis of the	Examples: Goods sold, money loaned, lease, services performed, personal injury or wrongful death, or credit card.
claim?	Attach redacted copies of any documents supporting the claim required by Bankruptcy Rule 3001(c).
	Limit disclosing information that is entitled to privacy, such as health care information.
	services performed, parts delivered
Is all or part of the claim secured?	☑ No
	Yes. The claim is secured by a lien on property
	Yes. The claim is secured by a lien on property. Nature or property:
	Nature or property:
	Nature or property: Real estate: If the claim is secured by the debtor's principle residence, file a Mortgage Proof of
	Nature or property: Real estate: If the claim is secured by the debtor's principle residence, file a Mortgage Proof of Claim Attachment (Official Form 410-A) with this Proof of Claim.
	Nature or property: Real estate: If the claim is secured by the debtor's principle residence, file a Mortgage Proof of Claim Attachment (Official Form 410-A) with this Proof of Claim. Motor vehicle
	Nature or property: Real estate: If the claim is secured by the debtor's principle residence, file a Mortgage Proof of Claim Attachment (Official Form 410-A) with this Proof of Claim. Motor vehicle Other. Describe:
	Nature or property: Real estate: If the claim is secured by the debtor's principle residence, file a Mortgage Proof of Claim Attachment (Official Form 410-A) with this Proof of Claim. Motor vehicle Other. Describe: Basis for perfection: Attach redacted copies of documents, if any, that show evidence of perfection of a security interest (for example, a mortgage, lien, certificate of title, financing statement, or other document that shows the lien
	Nature or property: Real estate: If the claim is secured by the debtor's principle residence, file a Mortgage Proof of Claim Attachment (Official Form 410-A) with this Proof of Claim. Motor vehicle Other. Describe: Basis for perfection: Attach redacted copies of documents, if any, that show evidence of perfection of a security interest (for example, a mortgage, lien, certificate of title, financing statement, or other document that shows the lien has been filed or recorded.)
	Nature or property: Real estate: If the claim is secured by the debtor's principle residence, file a Mortgage Proof of Claim Attachment (Official Form 410-A) with this Proof of Claim. Motor vehicle Other. Describe: Basis for perfection: Attach redacted copies of documents, if any, that show evidence of perfection of a security interest (for example, a mortgage, lien, certificate of title, financing statement, or other document that shows the lien has been filed or recorded.) Value of property: \$

Yes. Amount necessary to cure any default as of the date of the petition.

1911563190809071048000284

Official Form 410 Proof of Claim

✓ No

✓ No

Yes. Identify the property: _

10. Is this claim based on a

11. Is this claim subject to a right of setoff?

lease?

12. Is all or part of the claim	₽ No			
entitled to priority under 11 U.S.C. § 507(a)?	☐ Yes. Check	call that apply:		Amount entitled to priority
A claim may be partly priority and partly	Dome:	stic support obligations (including alir S.C. § 507(a)(1)(A) or (a)(1)(B).	nony and child support) under	C.
nonpriority. For example, in some categories, the law limits the amount		\$3,025* of deposits toward purchas		\$
entitled to priority.	days b	s, salaries, or commissions (up to \$ pefore the bankruptcy petition is filed ever is earlier. 11 U.S.C. § 507(a)(4)	or the debtor's business ends,	\$
	☐ Taxes	or penalties owed to governmental u	ınits. 11 U.S.C. § 507(a)(8).	\$
	Contri	butions to an employee benefit plan	. 11 U.S.C. § 507(a)(5).	\$
	Other.	Specify subsection of 11 U.S.C. § §	507(a)() that applies.	\$
	* Amounts a	are subject to adjustment on 4/01/22 and e	very 3 years after that for cases begun	on or after the date of adjustment.
13. Is all or part of the claim pursuant to 11 U.S.C. § 503(b)(9)?	days before	ate the amount of your claim arising the date of commencement of the y course of such Debtor's business	above case, in which the goods	have been sold to the Debtor in
Part 3: Sign Below				
The person completing this proof of claim must sign and date it. FRBP 9011(b). If you file this claim electronically, FRBP 5005(a)(2) authorizes courts to establish local rules specifying what a signature is. A person who files a fraudulent claim could be fined up to \$500,000, imprisoned for up to 5 years, or both. 18 U.S.C. §§ 152, 157, and 3571.	I am the trust. I am a guarar I understand that a the amount of the class of the cl		tor. Bankruptcy Rule 3005. of Claim serves as an acknowled edit for any payments received to and have reasonable belief that the	ward the debt.
	/s/Michael E Signature	Ebner the person who is completing and	I signing this claim:	
	Name	Michael E Ebner	a signing this claim.	
		First name Mid	dle name Last i	name
	Title	Owner/Engineer		
	Company	Aspect Electrical Engine Identify the corporate servicer as the comp		<u> </u>
	Address			
	Contact phone		Email	



Official Form 410 Proof of Claim

KCC ePOC Electronic Claim Filing Summary

For phone assistance: Domestic (877) 634-7165 | International 001-310-823-9000

Debtor:				
19-11563 - Emerge Energy Services LP				
District:				
District of Delaware				
Creditor:	Has Supporting Doc	Has Supporting Documentation:		
		rting documentation successfully uploaded		
Mike Ebner	tatement:			
800 Wisconsin St				
Bldg D02, Suite 356, MB24				
No Eau Claire, WI, 54703 Related Claim Filed By:				
Phone:	rtolatoa Olalii i lioa			
715-834-5201	Filing Party:			
Phone 2:	Creditor			
Fax:				
Email:				
mebner@aspecteng.com				
Other Names Used with Debtor:	Amends Claim:			
Other Names Osca With Destor.	No			
	Acquired Claim:			
	No			
Basis of Claim:	Last 4 Digits:	Uniform Claim Identifier:		
services performed, parts delivered	Yes - 9889			
Total Amount of Claim:				
19180	No			
Has Priority Claim: Priority Under:				
No				
Has Secured Claim:	Nature of Secured A	mount:		
No	Value of Property:			
Amount of 503(b)(9):	Annual Interest Rate	:		
No	Arrogrago Amounti			
Based on Lease:	Arrearage Amount:			
No Basis for Perfection:				
Subject to Right of Setoff: Amount Unsecured:				
No				
Submitted By:				
Michael E Ebner on 20-Aug-2019 6:48:41 a.m. Eastern Ti	ime			
Title:				
Owner/Engineer				
Company:				

Aspect Electrical Engineering and Service, LLC

800 356Wisconsin St Bldg D02, Suite 356, MB24 Eau Claire, WI 54703 715-834-5201

Invoice

Date	Invoice #	
6/8/2019	J2804	

Bill To
11/21/2017: Corporate Address Change: 5600 Clearfork Main St, Ste 400 Fortworth, TX 76109

Job Description

Aspect May Automation Support

	Customer Phone	715-5	775-3300						
	P.O. No.		Terms		Due Date	S	Ship Date	Ship Via	FOB
	Maintenance	Maintenance Net 30 7/8/2019		5	5/31/2019	N/A			
It	Description				Qty	Rate	Amount		
Е	05-10-19 - SSS - Poskin - Resolved programming issues with BC 10, 15, & 17 Pull cords and BC 17 & BC18 Speed Switches, Added an Alarm if DCA3 stays on for longer than 2 minutes, turn it off and show an alarm, resolved the maintenance override switches for BC15 and BC16. Came up with a plan for the buttons on the popup's not being in the proper state, reviewed the silo 4 rail vs truck loadout.					8	100.00	800.00	
Е	05-19-19 - Superior Silica Sand - Sunday - Remote support to resolve crashing issues and to add some additional functionality to the Wonderware. Found the application that Chad found in the error log that is trying to connect to a database that does not exist. Disabled the application and will monitor over the week to see if the problem goes away.						4	100.00	400.00
Е	05-24-19 - SSS - Thompson Hills - Onsite visit to make modifications to control system. Moved P02A pump to Multicut system, Changed P35MC to MSMC-2, Changed piping on Wonderware, P01A Hits manifold and goes to both Hydrosizers, both overflow sensors go back to tank A, P02B Pump goes to P02B Tank, pinch bypasses go to tank A. Added Scale to JCMC1, both rate and total, Sump 2 goes to cyclone above screw with overflow to sump. Picked out IO points for Scale.					8.5	100.00	850.00	
Е	E 05-24-19 - SSS - Poskin - Onsite visit to verify operation of Wonderware, plant was started up prohibiting of many changes. Verified sending of shift reports, runtime reports, and errors generated on the server. Worked with Joe Green on the Sand Max PLC to clear errors and determine what can be salvaged from this panel for the next project.					4.5	100.00	450.00	
Tł	nank you for the work.						Tota	ıl	\$2,500.00
							Bal	ance Due	\$2,500.00

Phone #	E-mail	Web Site
715-864-5209	mebner@aspecteng.com	www.aspecteng.com

800 356Wisconsin St Bldg D02, Suite 356, MB24 Eau Claire, WI 54703 715-834-5201

Invoice

Date	Invoice #	
6/27/2019	J2819	

Bill To	Job Description
11/21/2017: Corporate Address Change: 5600 Clearfork Main St, Ste 400 Fortworth, TX 76109	June Automation Supp

port **Customer Phone** 715-575-3300

\perp								
	P.O. No.	Terms	Due Date	s	hip Date	Ship Via	FOB	
	Maintenance Net 30 7/27/2019 6					/27/2019	N/A	
It	It Description						Rate	Amount
Е	E 06-03-19 - Superior Silica Sand - Thompson Hills - Onsite visit to commission Multicut				9	100.00	900.00	
Е	06-05-19 - Superior Silica - Thompson Hills - Onsite visit to continue commissioning the Multicut. Resolved programming issues, worked on new logic for floor sumps, resolved Analog Input issues with Flow meters and Level Sensors.					12.5	100.00	1,250.00
Е	2 06-07-19 - Superior Silica - Thompson Hills - Onsite visit - continuation of commissioning. Continued to commission sensors, motors, drives, wiring, level sensors, and cameras.					13.5	100.00	1,350.00
Е	06-10-19 - Superior Silica - Thompson Hills - Startup of Wet Plant - Reset 2 cameras, worked with staff to get plant running, minor changes on Multicut.					10.5	100.00	1,050.00
Е	06-12-19 - Superior Silica - Thompson Hills - Startup of Wet Plant. Worked on issues. Ended up a problem on a rack. Ordered parts.					10	100.00	1,000.00
Е	06-13-19 - Superior Silica - Thompson Hills - Installed new rack, resolved issues with analog inputs, rewired some inputs at multicut					10	100.00	1,000.00
Е	06-13-19 - Superior Silica - Poskin - Onsite visit to install software on Ryan Leverson's computer, worked on server and also tried to wire up wireless extender in shop but could not get the cable to work.					3.5	100.00	350.00

Total **Balance Due**

Phone #	E-mail	Web Site
715-864-5209	mebner@aspecteng.com	www.aspecteng.com

800 356Wisconsin St Bldg D02, Suite 356, MB24 Eau Claire, WI 54703 715-834-5201

Invoice

Date	Invoice #
6/27/2019	J2819

Bill To			Jo	b De	escription					
11/21/2017: Corporate Address Change: 5600 Clearfork Main St, Ste 400 Fortworth, TX 76109				June	Auto	omation Sup	port			
	Customer Phone	715-5	575-3300		J					
	P.O. No.		Terms		Due Date	5	Ship Date	Ship Via		FOB
	Maintenance		Net 30		7/27/2019 6/27/2019		5/27/2019	N/A		
It		Des	scription				Qty	Rate		Amount
Е	E 06-18-19 - Superior Silica - Thompson Hills - Onsite visit to continue commissioning startup of Multicut. Tuned PID loops for Multicut Hydrosizers, retagged flow meters, setup Wonderware to have two screens.					10	100.00		1,000.00	
E 06-23-19 - Superior Silica - Remote support with Poskin Server				r		1.5	100.00		150.00	
Thank you for the work.						Tota	ıl	\$8,050.00		
							Bal	ance Due)	\$8,050.00
$\overline{}$	1							_		

800 356Wisconsin St Bldg D02, Suite 356, MB24 Eau Claire, WI 54703 715-834-5201

Thank you for the work.

715-864-5209

Invoice

\$8,630.00

Date	Invoice #			
6/13/2019	J2827			

Bill To				Job [Description		
11/21/2017: Corporate Address Change: 5600 Clearfork Main St, Ste 400 Fortworth, TX 76109				Thomps	son Hills PLC	Replacement Parts	
Customer Phone	715-5	575-3300					
P.O. No.		Terms	Due Da	te	Ship Date	Ship Via	FOB
Maintenance		Net 30	7/13/20	19	6/13/2019	N/A	
It	Des	scription			Qty	Rate	Amount
E Thompson Hills Replaceme	ent PLC Parts						
E PLC Backplane 1756-A13					2	890.00	1,780.00
E PLC Ethernet Card 1756-EN2TR					2	3,425.00	6,850.00

			Balance Due	\$8,630.00
Phone #	E-mail	Web Site		

www.aspecteng.com

mebner@aspecteng.com

Total